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Think: Jackson finally finishes his Lego model 
warship. He used all 8,000 of his Lego pieces and 

it looks great! His little brother runs in the room 
with excitement and knocks over the model. 

5,078 Lego pieces get knocked off. Jackson yells, 
“Now I have to replace over 3,000 pieces!”. Is 

Jackson’s statement true? Explain your thinking. 
 

 

 

 

 

 

 

I think ____________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

because___________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

So __________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

_____________________________________________________________. 

 

 

  

Idea: Idea: Idea: 

Idea: Idea: Idea: 

Additional workspace: 

Here is my mathematical thinking: 


